
ALENTO

1936×493×191
2

508×500×193
4

508×424×185
6

508×424×187
8

883×90×189

EX

ST

B
S-16
3,5x16 mm

C2

Name

Typ

Service

T 30 - TV ELEMENT

Ø15x12 mm

?

T1

D1

Ø8x32 mm

S2-16L
4x16 mm

128 mm

A2

77x20x15 mm

PG

D2

Ø6x32 mm

S1-20
3x20 mm

ES

6,3x13mm

R40-Häfele

400mm

883×90×18

M20

M4x20 mm

1936×493×19

508×500×19

508×424×18

11
12

869×400×200
896×164×20

M30

M4x30 mm

4x30 mm

10 869×400×120

13 896×332×20

14
15 60×60×15

S2-30

524×1910×3

1

2

3
5

6

7

4

8

9

10

10

11

11

12

13
12

13

14

15

S-25L
3,5x25 mm

ALT20T30Art. Nr.

4x16 mm

S2-16

12.09.2024.

KU

60x14x7mm

AutoCAD SHX Text
0

AutoCAD SHX Text
10

AutoCAD SHX Text
20

AutoCAD SHX Text
30

AutoCAD SHX Text
40

AutoCAD SHX Text
50

AutoCAD SHX Text
60

AutoCAD SHX Text
70



1/1

20
Min.

Modellname: ALENTO           MONTAGEANLEITUNG
  TYPE T30 - TV ELEMENT

PG

128 mm ×4

S1-20

Schublade mit 3×20mm schrauben an die
Unterführungschine befestigt

HÄFELE

A2

3.

4.

5.

Achtung:

4
8

1.

2.

6.

7.
S2-16L

A2

14

2 Persons

×8

ST

C2

×4

M20

M4x20 mm

S2-16L
4x16 mm

A2

×2

×2

77x20x15 mm

×4

M30

M4x30 mm

×4

PG

M30

M20

PG

8 kg

8 kg

40 kg

CBA
A

B

C

12.09.2024.

AutoCAD SHX Text
EXTENSION LOSS (AV)

AutoCAD SHX Text
+3mm

AutoCAD SHX Text
Vertical adjustment

AutoCAD SHX Text
AV


	Sheets and Views
	Alento - T30 service-Prva
	Alento - T30 service-Druga


